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Fill in the blanks:

1. Standard units of weight is kil_ogm_m_/ 1tis represented by Ki
2. To measure smaller weights we use 9mm Atis represente«j bvg -
3. It a kilogram is divided into |00 equal parts, then each F“";"? 57
Qsam - I
Wesay [000g=1kg o _ | kg =1000 g. )
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rill in the blanks: Ao
1. 3kg = DBOOD.g 2ke = 2000 = o
s 4kg = _Hooo.g 7ke = 10002 -
;. okg = 9000 ¢ ske = 3000 ¢ .
7 1000g = 4 kg ® kg

9, 2000g = __2__ kg 10. 3000g = 3 kg e
1 6000g = _G__kg 12 500g= 5 ke
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f;_{f EXERCISE 8.2

© 8976 kg
-4 91 Skg
qo58kg

& 1. Add:

3.

‘ (@) 228 ¢
+9.5.2'g

0 730,

Dty 891 kg

+2.0 8 6 kg

Gubtract

@ 643

(b)
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179 kg
+219 8 kg




4. Divide:

(a) 5751gby9

639

(b) 759 gby 12

() 7345kgby 15

503
15715
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1Y EXERCISE 8.3

} O i f Ay ] '
,, Agranary had 45812 kg of corn. What quantity of corn will it contamn
2942 kg more 1s added to 1t?

Wei 08 Wﬂﬁw 4519 Kg.
351 of ML 52942@2
Guanbﬁs 010 Coon Mol . ?454,k3_ |

Hence, the qoan%xfg oF covn “will 7454 Kq
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10 I¢ xtmn ‘1‘0 3. What (Ui mm\ <>f sugar 18 left 1n the ware hous
10\\

o b

Q25

. A bag has 210 g of turmeric pm&du What gquantity of turmeric
powder will 12 such bags contain’ -

Lustmoosie W.P,ewcfw: 210 % Pt

3 =xj2 v

oowedsr 420 %

Hence, 2520 2;\ iiumamc_ﬁnmde: 210X
will 12 2520lq

4. A store has 5070 kg of whe%s is to be equall\ distr 1buted mto

13 parts What quantlt) of wheat for each part? ;

P wheot ,a_Sioxe has= 5070 K%,

A qua distyi buiedw

L' 800 cach. part= 50 20+ 13
= 5q90Kaq

3 v 5 ;
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Weight , '
R il S A U ELE 0 T BRI 99‘

8‘__O£_wb£ a_‘l‘ '_fbuweach MPQK.'E“WWMM m

2232

w umwmmﬁwm -2 93 kg
_,:lfznce__2639 K 9{;&'@4"@ Jeff n n Bho wwafwu.w
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1 “ }n (h(’ h‘dll]x% ;
o ke 500011 () 2000g= 2 kg
Gmplify: () 272'8g B 4 3¢ (€) 6 2 1 ko ;
L3520 -394y '3 ]

et . Al B it

580 349 563,

1 hne 9 ]
3 vessel has 2512 kg of cement. What quantity of cement 2] ;, |

if 42394 Ke move 1s added to 1t?
Lllexghjc of_Comert a vessel has= 2512 k Y/

ghtDF ‘mose_Cement Qdded’co&"i%‘ﬁ_, o
Ta’naLhmgM eg_ﬂcemezr_d: Now 630 5,83

re has 8925 kg of sugar. Out of tma 1250 ke was sold. What
guantity of sugar 1s left in the store now?

elﬁhtﬂgfgu qazs Q&ho:s,e,,hlcctis 5 6925
weight ot Sugay twas Soid_= 250
@.uﬂgn&ﬁg_g?’ Sugasis left in Stowe @E{EE l‘ﬂ

A bag has 155 kg of rice. What quantity of rice will 13 such bag

contain?

Welght of uice 0 bog has= 155k
Numbes £ _bags X3 .
m.oialwamnhf:ﬂ of yice 2015 kg
A drum has 5955 kg of washing powdcx This washing powder s |
to be equally distributed into bags of 15 kg each. How many such

‘bags can be made?

il-’ﬁl.gbj OF UJOS‘\ %__, owdes deum has= 595 S
Ujeight of_pouwde

equally distsi buted i bags= 1S
__Coun b2 mad p&! 3 3__?5,.._15
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